

Page 1 of 13

Contract ID: 18120 Counties: SUSSEX

Letting Date: June 14, 2018 District(s): N1

**Call Order:** 120 **Project(s):** NHP-0015(302)

Contract Time: 04/22/19 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt		Cat A	It Member:	
0001 151006M	1.000	13,123.00000	13,123.00				
PERFORMANCE BOND A PAYMENT BOND	ND DOLL						
0004 153009P	(1)	35,000.00000	35,000.00				
BAR CHART PROGRESS SCHEDULE AND UPDATE	LS ES						
0005 154003P	(1)	259,400.00000	259,400.00				
MOBILIZATION	LS						
0008 157004M	1.000	25,229.00000	25,229.00				
CONSTRUCTION LAYOUT	Γ DOLL						
0015 159003M	160.000	1.00000	160.00				
BREAKAWAY BARRICADI	E U						



Page 2 of 13

Contract ID: 18120 Counties: SUSSEX

Letting Date: June 14, 2018 District(s): N1

**Call Order:** 120 **Project(s):** NHP-0015(302)

Contract Time: 04/22/19 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	Set:	Cat A	It Member:	
0016	159006M	250.000	1.00000	250.00				
DRUM		U						
0017	159009M	75.000	22.00000	1,650.00				
TRAFFIC	CONE	U						
0018	159012M	1,868.000	16.10000	30,074.80				
CONSTR	UCTION SIGNS	SF						
0019	159015M	1.000	862.50000	862.50				
CONSTR SIGN, 4'	UCTION IDENTIFICAT X 8'	TION U						
0020	159027M	2.000	100.00000	200.00				
FLASHIN	G ARROW BOARD, 4	' X 8' U						



Page 3 of 13

Contract ID: 18120 Counties: SUSSEX

Letting Date: June 14, 2018 District(s): N1

**Call Order:** 120 **Project(s):** NHP-0015(302)

Contract Time: 04/22/19 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	Roadway		Cat Alt	Set:	Cat Alt Member:		
0021	159030M	3.000	7,500.00000	22,500.00				
PORTAB SIGN	LE VARIABLE MESSAG	E U						
0022	159108M	2.000	3,000.00000	6,000.00				
	CONTROL TRUCK WIT	H U						
0023	159141M	100.000	103.50000	10,350.00				
TRAFFIC	DIRECTOR, FLAGGER	HOUR						
0024	159300M	300,000.000	0.32000	96,000.00				
TRAFFIC	STRIPES, LATEX, 4"	LF						
0025	159302M	200.000	0.60000	120.00				
TRAFFIC	STRIPES, LATEX, 8"	LF						



Page 4 of 13

Contract ID: 18120 Counties: SUSSEX

Letting Date: June 14, 2018 District(s): N1

**Call Order:** 120 **Project(s):** NHP-0015(302)

Contract Time: 04/22/19 COMPLETION DATE Min: Max:

Line No / Item Desc			(1) ASPHAL SYSTEM					
Alt Set / A	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt Set:		Cat Alt Member:		
0026 1	159312M	10,800.000	0.12000	1,296.00				
TRAFFIC M LATEX, 8"	ARKINGS LINES,	LF						
0027 1	159314M	2,600.000	0.23000	598.00				
TRAFFIC M LATEX, 24"	ARKINGS LINES,	LF						
0028 1	159320M	400.000	0.35000	140.00				
TRAFFIC M LATEX	ARKINGS SYMBOI	LS, SF						
0029 1	160004M	1.000	3,500.00000	3,500.00				
FUEL PRIC	E ADJUSTMENT	DOLL						
0030 1	60007M	1.000	16,100.00000	16,100.00				
ASPHALT P	RICE ADJUSTMEN	NT DOLL						



Page 5 of 13

Contract ID: 18120 Counties: SUSSEX

Letting Date: June 14, 2018 District(s): N1

**Call Order:** 120 **Project(s):** NHP-0015(302)

Contract Time: 04/22/19 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	Roadway	Cat Alt Set:		Cat A	Cat Alt Member:		
0031	161003P	(1)	22,500.00000	22,500.00				
FINAL CI	_EANUP	LS						
0032	201003P	(1)	29,800.00000	29,800.00				
CLEARIN	IG SITE	LS						
0033	401017P	7,320.000	19.80000	144,936.00				
MICRO-N	<b>MILLING</b>	SY						
0034	401021M	4,500.000	178.57000	803,565.00				
HOT MIX REPAIR	ASPHALT PAVEMEN	NT SY						
0035	401030M	20,100.000	2.80000	56,280.00				
TACK CO	DAT	GAL						



Page 6 of 13

Contract ID: 18120 Counties: SUSSEX

Letting Date: June 14, 2018 District(s): N1

**Call Order:** 120 **Project(s):** NHP-0015(302)

Contract Time: 04/22/19 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	: Set:	Cat A	It Member:	
0036	421010M	1,490.000	106.84000	159,191.60				
SLURRY II	SEAL AGGREGATE,	, TYPE T						
0037	421011M	44,630.000	9.92000	442,729.60				
SLURRY	SEAL EMULSION	GAL						
0038	424003M	96,835.000	4.10000	397,023.50				
_	R MODIFIED ASPHA ON CHIP SEAL	LT SY						
0040	602099M	2.000	1,224.00000	2,448.00				
RESET E	XISTING CASTING	U						
0041	602213M	10.000	708.00000	7,080.00				
CURB PII	ECE	U						



Page 7 of 13

Contract ID: 18120 Counties: SUSSEX

Letting Date: June 14, 2018 District(s): N1

**Call Order:** 120 **Project(s):** NHP-0015(302)

Contract Time: 04/22/19 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Memb	per Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt Set:		Cat A	It Member:	
0043 607018P	168.000	201.60000	33,868.80				
9" X 16" CONCRETE CURB	VERTICAL LF						
0044 608003P	10.000	300.00000	3,000.00				
NONVEGETATIVE S MIX ASPHALT	SURFACE, HOT SY						
0045 610003M	70,100.000	0.49000	34,349.00				
TRAFFIC STRIPES,	4" LF						
0046 610007M	100.000	0.97000	97.00				
TRAFFIC STRIPES,	8" LF						
0047 610012M	50.000	36.78000	1,839.00				
RPM, MONO-DIREC LENS	TIONAL, WHITE U						



Page 8 of 13

Contract ID: 18120 Counties: SUSSEX

Letting Date: June 14, 2018 District(s): N1

**Call Order:** 120 **Project(s):** NHP-0015(302)

Contract Time: 04/22/19 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	: Set:	Cat A		
0048	610014M	2,500.000	2.07000	5,175.00				
TRAFFIC	MARKING LINES, 8"	LF						
0049	610017M	600.000	4.83000	2,898.00				
TRAFFIC	MARKING LINES, 24	" LF						
0050	610018M	50.000	36.78000	1,839.00				
RPM, MO	DNO-DIRECTIONAL, LENS	U						
0051	610024M	100.000	25.00000	2,500.00				
REMOVA	AL OF RPM	U						
0052	610027M	100.000	20.70000	2,070.00				
REMOVA RPM LEI	AL AND REPLACEMEI NS	NT OF U						



Page 9 of 13

Contract ID: 18120 Counties: SUSSEX

Letting Date: June 14, 2018 District(s): N1

**Call Order:** 120 **Project(s):** NHP-0015(302)

Contract Time: 04/22/19 COMPLETION DATE Min: Max:

Contract Description: Route 15 Southbound, From Sussex County Line to Route 181

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	Set:	Cat A	It Member:	
0053	610033M	1,500.000	4.08000	6,120.00				
RUMBLE STRIP LF		LF						
0054	610036M	70,200.000	0.72000	50,544.00				
REMOV	AL OF TRAFFIC STRI	PES LF						
0055	610039M	3,000.000	4.47000	13,410.00				
REMOV	AL OF TRAFFIC MAR	KINGS SF						
0056	610060M	200.000	9.20000	1,840.00				
TRAFFIC	C MARKINGS SYMBO	OLS SF						

**Section Totals:** \$2,747,656.80



Page 10 of 13

Contract ID: 18120 Counties: SUSSEX

Letting Date: June 14, 2018 District(s): N1

**Call Order:** 120 **Project(s):** NHP-0015(302)

Contract Time: 04/22/19 COMPLETION DATE Min: Max:

Contract Description: Route 15 Southbound, From Sussex County Line to Route 181

Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Construction E		ngineering	Cat Alt Set:		Cat A		
0006 155009M	1.000	41,000.00000	41,000.00				
FIELD OFFICE TYPE C SET	UP U						
0007 155027M	12.000	5,900.00000	70,800.00				
FIELD OFFICE TYPE C MAINTENANCE	MO						

Section Totals: \$111,800.00



Page 11 of 13

Contract ID: 18120 Counties: SUSSEX

Letting Date: June 14, 2018 District(s): N1

**Call Order:** 120 **Project(s):** NHP-0015(302)

Contract Time: 04/22/19 COMPLETION DATE Min: Max:

Contract Description: Route 15 Southbound, From Sussex County Line to Route 181

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member Quant	tity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Non-Participat		lon-Participatir	ng (Roadway)	Cat Alt	Set:	Cat A	It Member:	
0002	152004P	1.000	4,000.00000	4,000.00				
-	S AND CONTRACTOR'S TIVE LIABILITY NCE	DOLL						
0003	152015P	1.000	18,300.00000	18,300.00				
POLLUTI	ON LIABILITY INSURANCE	DOLL						
0039	601670M	750.000	6.40000	4,800.00				
CLEANIN 24" DIAM	IG EXISTING PIPE, 12" TO IETER	LF						
0042	602216M	10.000	527.75000	5,277.50				
CLEANIN STRUCT	IG DRAINAGE URE	U						

Section Totals: \$32,377.50



Page 12 of 13

Contract ID: 18120 Counties: SUSSEX

Letting Date: June 14, 2018 District(s): N1

**Call Order:** 120 **Project(s):** NHP-0015(302)

Contract Time: 04/22/19 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004 Erosion Contro		Erosion Control		Cat Alt	Set:	Cat A	It Member:	
0009	158012M	190.000	10.00000	1,900.00				
HEAVY D	OUTY SILT FENCE, B	LACK LF						
0010	158030M	60.000	9.00000	540.00				
INLET FII	LTER TYPE 2, 2' X 4'	U						
0011	158033M	5.000	9.00000	45.00				
INLET FII	LTER TYPE 2, 4' X 4'	U						
0012	158063P	(1)	3,000.00000	3,000.00				
CONCRE	TE WASHOUT SYST	EM LS						
0013	158072M	2.000	1,250.00000	2,500.00				
OIL ONL' TYPE 1	Y EMERGENCY SPIL	L KIT, U						



Page 13 of 13

Contract ID: 18120 Counties: SUSSEX

Letting Date: June 14, 2018 District(s): N1

**Call Order:** 120 **Project(s):** NHP-0015(302)

Contract Time: 04/22/19 COMPLETION DATE Min: Max:

Contract Description: Route 15 Southbound, From Sussex County Line to Route 181

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.							
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTION: 0004	Erosion Control		Cat Alt	Set:	Cat A	It Member:			
0014 158084M	1.000	150.00000	150.00						
EROSION CONTROL SEDIM REMOVAL	ENT CY								
Section Totals:			\$8,135.00						
Contract Totals			\$2,899,969.30						

Contract Totals \$2,899,969.30

Cost Plus Time Totals \$2,899,969.30

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 120 Contract ID: 18120 Counties: SUSSEX

Letting Date: June 14, 2018 10:00 AM District(s): N1

**Contract Time:** 04/22/19 COMPLETION DATE

Contract Description: Route 15 Southbound, From Sussex County Line to Route 181 Project(s): NHP-0015(302)

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	A8048	ASPHALT PAVING SYSTEMS, INC.	\$2,899,969.30	100.00%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,